| Razorback Bear Guard Brsckets - Full Side
INSTALLATION INSTRUCTIONS

Razorback Bear Guard Brackets - Full Side

RAZORBACK

ANIMAL RESISTANT STEEL TRASH BIN ENCLOSURES

Most customers will install the Bear Guard Brackets during the assembly
of their new Razorback. If you have already assembled your Razorback it
will be necessary to remove the four corner brackets from the bin (you may
also need to loosen the 4 carriage bolts that connect the side panels to the
front/rear panels to give more flex when inserting the bolts into the Bear
Guard Brackets). After their removal, proceed with the instructions below.

1. Place two 1/4” x 1” carriage bolts into two
centre holes of one of the Bear Guard Brackets.
(See Image 1)

2. Holding the carriage bolts in place, lift the
Bear Guard Bracket and slide it over one end of
your Razorback, from the side you are installing
the Bear Guard. Line up the carriage bolts with
the corresponding holes near the top rim of the
bin. (See Image 2) Place a washer and NyLock
nut on each bolt.

(See Image 3) DO NOT TIGHTEN THE NUTS!

3. Slide a corner bracket between the BearGuard and the front corner
of the Razorback (See Image 4). One at a time, insert the four 1/4” x

1” carriage bolts through the Bear Guard, the corner bracket and the
Razorback (See Image 5) and put washer and NyLock on each bolt. DO
NOT TIGHTEN THE NUTS!

Note: The bolts may be a little snug going through all of these parts. Just
wiggle the bolts as you insert, and they will fit. Repeat this to install the rear
corner bracket.

4. To install the 2nd
Bear Guard Bracket,
just repeat the same
process.

= | 5. Tighten the nuts
on each of the bolts
snugly. Your Bear
Guard Brackets are
now installed.

Congratulations on your choice
to purchase the Razorback
Bear Guard Brackets- Full
Sides! Using these Bear Guard
Brackets is what will really
make the difference in keeping
larger bears (including Grizzly,
Kodiak, and Polar Bears) out of
your new Razorback.

When Razorback was tested
and certified as Grizzly Bear
Resistant, these brackets were
used.

TOOLS REQUIRED

A 7/16” socket, with a cordless drill
or ratchet is all that is required.

PARTS INCLUDED

2 Bear Guard Brackets
1/4” x 17 Carriage Bolts (20 pcs.)
1/4” NyLock Nuts (20 pcs.)
1/4” Flat Washers (20 pcs.)

THANK YOU
FOR CHOOSING
RAZORBACK!

We hope that the installation

of the Bear Guard Brackets is
straight forward to complete,
but if you need to reach us for
some help with assembly, or for
any other questions or com-
ments, call 877-232-7428 or
e-mail info@bearicuda.com

BEARICUDA.COM



